Recitation #8
Quantum 522

1. Show that the propagator
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satisfies the free particle Green’s function equation. (Hint: recall Pois-

son’s equation in electrostatics.)

2. Use the following figure to make a estimate based on classical scattering
theory of the size of the gold atom (Z=97,A=179). Compare this to

the formula r = 1.2AY/3fm

The scatterad intensity departs
from the Rutheriord scattering
formula at about 27.5 MaV
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Figure 1: Observed Rutherford scattering deviates from theoretical predic-
tion at 27.5 MeV



